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1. (a) ïõÁõÈÛéÁõÛ …ÛýÛÛé›÷¶Û ÈÛ”Û©Ûé ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ× ©Û¼Û‘õÛ…Ûé µýÛÛ¶Û¾ÛÛ× ÁõÛ”ÛÈÛÛ ÍÛÅÛÛÐü ½ÛÁéõÅÛÛ ™öé ? 
ÍÛ¾Û›ÛÈÛÛé.   7  

      …¬ÛÈÛÛ 
  ïõýÛÛ-ïõýÛÛ ¸ÛÜÁõ¼ÛÇÛé¶ÛÛ× …ÛµÛÛÁéõ …éÍÛéÍÛà¶Ûà ïäõÅÛ …ÛÈÛïõ¶Ûà ïõÁõ¸ÛÛªÛ©ÛÛ  ¶Û‘õà ¬ÛÛýÛ ™öé ? ˜Û˜ÛÛë. 
 

 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  (i) ïõÁõÈÛéÁõÛ …×•Ûé¶ÛÛ ˜ÛÛÁõ Š°éùÉÛÛé ›÷̈ ÛÛÈÛÛé. 
  (ii) ïõÁõ˜ÛÛéÁõà ÍÛ¾Û›ÛÈÛÛé. 
  (iii) ¸ÛÛ™öÅÛä× ÈÛÌÛÙ …é¤øÅÛé ÉÛä× ? 
 

 (c) ¶Ûà˜Ûé¶ÛÛ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) ï×õ¸Û¶Ûà¶ÛÛ ÁõÐéü¥øÛ¨Û þùÁõš›Û¶ÛÛ× ïõýÛÛ-ïõýÛÛ ¸ÛóïõÛÁõ ™öé ? 

  (ii) ÜÈÛÉÛéÌÛ ÈÛÜÁõÌ¥ø ¶ÛÛ•ÛÜÁõïõ …é¤øÅÛé ÉÛä× ? 

  (iii) ÈýÛÜî©Û …éÍÛéÍÛà¶Ûé ïõÁõÈÛéÁõÛ¶ÛÛ ïéõ¤øÅÛÛ ÍÅÛé¼Û ÅÛÛ•Ûä ¸Û¦éø ™öé ? 

 

2. ËÛà¾ÛÛ¶Û …×Üïõ©Û Ü¶ÛýÛÜ¾Û©Û¸Û¨Ûé ˆ‡•ÅÛé¶¦ø¶Ûà ¾ÛäÅÛÛïõÛ©Û ÅÛé ™öé. ©Ûé…Ûé ½ÛÛÁõ©ÛàýÛ ¶ÛÛ•ÛÜÁõïõ ™öé. ©Ûé¾Û¶ÛÛ 
½ÛÛÁõ©Û¾ÛÛ× ÁõÛéïõÛ¨Û …×•Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 14 

                           ½ÛÛÁõ©Û¾ÛÛ× ÁõÛéïõÛ¨Û  

¸ÛÛ™öÅÛä× ÈÛÌÛÙ ÁõÛéïõÛ¨Û¶ÛÛ× ¾ÛÜÐü¶ÛÛ…Ûé 
2011 – 12 …éÜ¸ÛóÅÛ, ¾Ûé, ›æ÷¶Û 
2012 – 13 …éÜ¸ÛóÅÛ, ¾Ûé, ›æ÷¶Û 
2013 – 14 …éÜ¸ÛóÅÛ, ¾Ûé, ›æ÷¶Û 
2014 – 15 …éÜ¸ÛóÅÛ, ¾Ûé, ›æ÷¶Û 
2015 – 16 …éÜ¸ÛóÅÛ, ¾Ûé, ›æ÷¶Û 

  ÈÛÌÛÙ 2015-16 þùÁõ¾ýÛÛ¶Û ©Ûé¾Û¶Ûà ˆ˜™öÛ ¸Ûó¾ÛÛ¨Ûé ©Ûé…Ûé ©ÛÛ. 2-7-15¶ÛÛ× ÁõÛé›÷ ¸ÛÁõþéùÉÛ ›÷ÈÛÛ¶Ûä× 
…ÛýÛÛé›÷¶Û ïõÁéõÅÛ Ðü©Ûä×. ¸ÛÁ×õ©Ûä ©Ûé¾Û¶ÛÛ ÈÛéÁõÛ ÍÛÅÛÛÐüïõÛÁéõ ©Ûé¾Û¶Ûé ©ÛÛ. 30-6-2015¶ÛÛ× ÁõÛé›÷ ¸ÛÁõþéùÉÛ ›÷ÈÛÛ¶Ûà 
ÍÛÅÛÛÐü …Û¸Ûà Ðü©Ûà. ©Ûé…Ûé…é ©ÛÛ. 30-6-2015¶ÛÛ× ÁõÛé›÷ ¸ÛÁõþéùÉÛ ›÷ÈÛÛ ÁõÈÛÛ¶ÛÛ ¬ÛýÛÛ Ðü©ÛÛ. 

  ©Û¾ÛÛÁõà ´ùÜÌ¤ø…é ÈÛéÁõÛ ÍÛÅÛÛÐüïõÛÁõ¶Ûà ÍÛÅÛÛÐü ýÛÛé•ýÛ Ðü©Ûà ? ïéõ¾Û ? ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ 
©Ûé¾Û¶Ûà …ÛÈÛïõÛé¶ÛÛ× …ÛµÛÛÁéõ ÈÛéÁõÛ ÍÛÅÛÛÐüïõÛÁõ¶Ûà ÍÛÅÛÛÐü¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. ›Ûé ©Ûé…Ûé þùÁõ ÈÛÌÛë 2/7 ¶ÛÛ× ÁõÛé›÷ 
¸ÛÁõþéùÉÛ •ÛýÛÛ ÐüÛéýÛ ©ÛÛé ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û ©ÛºõÛÈÛ©Û ŠþÕù½ÛÈÛé ?  
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 …ÛÈÛïõÛé : 

 (1) ¸ÛÁõþéùÉÛà ¼ÛÛé¶¦ø¶Ûà …ÛÈÛïõ 50% Áõïõ¾Û ½ÛÛÁõ©Û¾ÛÛ× ¾ÛÇà ` 2,50,000. 

 (2) ¼Û¾ÛÛÙ¶Ûà ”Ûé©Ûà¶Ûà …ÛÈÛïõ ` 1,70,000. 

 (3) ˆ‡•ÅÛé¶¦ø¾ÛÛ× …ÛÈÛéÅÛ Ü¾ÛÅÛïõ©Û¶Ûà …ÛÈÛïõ, ½ÛÛÁõ©Û¾ÛÛ× ¾ÛÇà ` 4,30,000. 

 (4) ›Û¸ÛÛ¶Û¶ÛÛ× µÛ×µÛÛ¶Ûà …ÛÈÛïõ, Ü¶ÛýÛ×ªÛ¨Û ½ÛÛÁõ©Û¾ÛÛ×¬Ûà ` 2,80,000. 

 (5) ÁõÜÉÛýÛÛ¶ÛÛ× µÛ×µÛÛ¶Ûà …ÛÈÛïõ, Ü¶ÛýÛ×ªÛ¨Û ½ÛÛÁõ©Û¾ÛÛ×¬Ûà ` 1,20,000. 

 (6) ½ÛÛÁõ©Û¾ÛÛ× …ÛÈÛéÅÛ ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û¶ÛÛ× ÈÛé̃ ÛÛ¨Û¶ÛÛé ¶ÛºõÛé, …ÛÈÛïõ ›Û¸ÛÛ¶Û¾ÛÛ× ¾ÛÇà ` 3,00,000. 

  ËÛà¾ÛÛ¶Û …×Üïõ©Û¶ÛÛ ïõÁõÈÛéÁõÛ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà¾ÛÛ× ÈÛéÁõÛ ÍÛÅÛÛÐüïõÛÁõ¶Ûà ÍÛÅÛÛÐü ¸Ûó¾ÛÛ¨Ûé ïéõ¤øÅÛÛé …¶Ûé ïéõÈÛà 
Áõà©Ûé –Û¤øÛ¦øÛé ¬ÛýÛÛé ÐüÉÛé ? ÍÛ¾Û›ÛÈÛÛé. 

  ïõÁõÈÛéÁõÛ¶ÛÛ ÍÅÛé¼Û : 10.3%   20.6% …¶Ûé 30.9% 

  ¸ÛÛ™öÅÛä× ÈÛÌÛÙ 2015 – 16 …¶Ûé …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2016 – 17 µÛÛÁõÛé. 
     …¬ÛÈÛÛ 

 (a) ¾ÛïõÛ¶Û-Ü¾ÛÅÛïõ©Û¶Ûà …ÛÈÛïõ¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ¾ÛÛ¶Ûà ÅÛàµÛéÅÛ ¾ÛÛÜÅÛïõà ÜÈÛÉÛé ˜Û˜ÛÛÙ ïõÁõÛé. 7 

…¬ÛÈÛÛ 

  ËÛà ÜÐü¾ÛÛ×ÉÛä× ¼Ûé ¾ÛïõÛ¶ÛÛé¶ÛÛ× ¾ÛÛÜÅÛïõ ™öé. ©Ûé¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 

ÜÈÛ•Û©Û 
¾ÛïõÛ¶Û – A ¾ÛïõÛ¶Û – B 

`̀̀̀ `̀̀̀ 

¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ …ÛïõÛÁõ¨Ûà 4,00,000 2,80,000 

ÈýÛÛ›÷¼Ûà ½ÛÛ¦ä 5,20,000 3,40,000 

¸Ûó¾ÛÛÜ¨Û©Û ½ÛÛ¦äø 4,24,000 4,00,000 

ïäõÅÛ Í¬ÛÛÜ¶Ûïõ ïõÁõÈÛéÁõÛ (20% ¼ÛÛïõà ™öé.) 40,000 30,000 

…Û•Û¶ÛÛé ÈÛà¾ÛÛé 4,000 4,000 

›÷¾Ûà¶Û ¾ÛÐéüÍÛæÅÛ 6,000 6,000 

¼ÛÛ×µÛïõÛ¾Û ¾ÛÛ¤éø ÅÛàµÛéÅÛ ÅÛÛé¶Û¶Ûä× ÈýÛÛ›÷ 60,000 25,000 
 

  ©Ûé¾Û¶Ûà …×þùÛœ÷©Û …¶ýÛ ïõÁõ¸ÛÛªÛ …ÛÈÛïõ ` 11,50,000 ™öé. ©Ûé¾Û¶Ûä× ïõÅÛ¾Û 80 C ¸Ûó¾ÛÛ¨Ûé¶Ûä× …×þùÛœ÷©Û 
ÁõÛéïõÛ¨Û ` 1,20,000 ¬ÛÉÛé. …Û …ÛÈÛïõÛé ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ 2015-16 ¾ÛÛ¤éø¶Ûà ™öé. ©Ûé¾Û¨Ûé ïéõÈÛÛ ¸ÛóïõÛÁõ¶Ûä× 
…ÛýÛÛé›÷¶Û ïõÁõÈÛä× ›Ûé̂ …é, ›÷é¬Ûà ©Ûé¾Û¶Ûà ïõÁõÈÛéÁõÛ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà ¶ýÛæ¶Û©Û¾Û ¬ÛÛýÛ. 

 

 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  (1) ÜÉÛ“Û¨Û ½Û¬¬ÛÛ …×•Ûé¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ÍÛ¾Û›ÛÈÛÛé. 
  (2) ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û¶ÛÛ× ¸ÛóïõÛÁõÛé ›÷̈ ÛÛÈÛÛé. 
  (3) Ü¦ø¸ÛÛé¡öà¤ø ýÛÛé›÷¶ÛÛ ÉÛä× ™öé ? 
 

 (c) ¶Ûà˜Ûé¶ÛÛ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (1) ïõÅÛ¾Û 80 C ¶Ûà ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ 2015-16 ¶Ûà ¾ÛÐü«Û¾Û ¾ÛýÛÛÙþùÛ ïéõ¤øÅÛà ™öé ? 

  (2) ïõÅÛ¾Û 24(a) ÉÛÛ¶ÛÛ ¾ÛÛ¤éø ™öé ? 

  (3) ïõÅÛ¾Û 54 ÉÛÛ¶ÛÛ ¾ÛÛ¤éø ™öé ? 
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3. (a) ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛ ÁõÛéïõÛ¨Û¶ÛÛ Ðéü©ÛäÍÛÁõ, ¶ÛÛ¨ÛÛïõàýÛ ¾Ûé¶Ûé›÷Áõ ³ùÛÁõÛ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ªÛ¨Û ÜÈÛïõÅ¸ÛÛé ¶ÛÛ¨ÛÛ 
¸ÛóÛÜ¸©Û ¾ÛÛ¤éø þùÉÛÛÙÈýÛÛ ™öé. ˆÜîÈÛ¤øà ÉÛéÁõÐüÛéÅ¦øÁõÛé¶Ûà ´ùÜÌ¤ø…é ïõýÛÛé ÜÈÛïõÅ¸Û ÈÛµÛä ÅÛÛ½ÛïõÛÁõïõ ÁõÐéüÉÛé, ©Ûé 
©Û¾ÛÛÁéõ ¶Û‘õà ïõÁõÈÛÛ¶Ûä× ™öé. ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé :  7 

  (1) ïäõÅÛ ÁõÛéïõÛ¨Û ` 1 ïõÁõÛé¦ø. 
  (2) …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 25%. 

  (3) ÈýÛÛ›÷¶ÛÛé þùÁõ 12%. 

  (4) Ü¦øÜÈÛ¦ø¶¦ø ˜ÛæïõÈÛ¨Ûà 100%. 

  (5) ï×õ¸Û¶Ûà ¾ÛÛ¤éø ÈÛéÁõÛ¶ÛÛé þùÁõ 30.9%. 

  (6) Ü¦øÜÈÛ¦ø¶¦ø ÜÈÛ©ÛÁõ¨Û ïõÁõ 28.325%. 

  (7) ªÛ¨Û ÜÈÛïõÅ¸ÛÛé : 
   (a) 100% ˆÜîÈÛ¤øà ½Û×¦øÛéÇ ³ùÛÁõÛ 
   (b) 70% ˆÜîÈÛ¤øà ½Û×¦øÛéÇ …¶Ûé 30% Ü¦ø¼Ûé¶˜ÛÁõ ³ùÛÁõÛ 
   (c) 30% ˆÜîÈÛ¤øà ½Û×¦øÛéÇ …¶Ûé 70% Ü¦ø¼Ûé¶˜ÛÁõ ³ùÛÁõÛ 
            …¬ÛÈÛÛ 
  ï×õ¸Û¶Ûà…Ûé¶Ûä× ÈÛ•ÛâïõÁõ¨Û 1961¶ÛÛ× …ÛÈÛïõÈÛéÁõÛ µÛÛÁõÛ ¸Ûó¾ÛÛ¨Ûé ÍÛ¾Û›ÛÈÛÛé. 
 (b) ÉÛéÁõÐüÛéÅ¦øÁõÛé¶Ûà ´ùÜÌ¤ø…é ¼ÛÛé¶ÛÍÛ ÉÛéÁõ …¶Ûé ïõÁõ …ÛýÛÛé›÷¶Û ÍÛ¾Û›ÛÈÛÛé. 4 

     …¬ÛÈÛÛ 
  ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶ÛÛ Ü¶Û¨ÛÙýÛ¶Ûé ïõýÛÛ-ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ ÈÛéÁõÛ…Ûé …ÍÛÁõ ïõÁéõ ™öé ? ïéõÈÛà Áõà©Ûé ? 

 (c) ÜÈÛÅÛà¶ÛàïõÁõ¨Û¶ÛÛ× Ðéü©Ûä…Ûé ÍÛ¾Û›ÛÈÛÛé. 3 

    …¬ÛÈÛÛ 
  ÜÈÛ½ÛÛ•ÛÛé¶Ûä× ï×õ¸Û¶ÛàïõÁõ¨Û …é¤øÅÛé ÉÛä× ? 
 

4. ”ÛÁõàþù-ÅÛà¡ö¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× X ï×õ¸Û¶Ûà ³ùÛÁõÛ ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛ× ÁõÛéïõÛ¨Û ¾ÛÛ¤éø ¼Ûé ÜÈÛïõÅ¸ÛÛé ÜÈÛïõÍÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈýÛÛ 
™öé.     14 

 ÜÈÛïõÅ¸Û – I 

 (1) ` 110 ÅÛÛ”Û¾ÛÛ× ¾ÛÉÛà¶ÛÁõà ”ÛÁõàþùÈÛà. 
 (2) Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ 5 ÈÛÌÛÙ ¸Û™öà ½Û×•ÛÛÁõ Ýïõ¾Û©Û ` 10 ÅÛÛ”Û.  

 (3) –ÛÍÛÛÁõÛ ¾ÛÛ¤éø ÍÛàµÛà ÅÛà¤øà¶Ûà ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÉÛé. 
 (4) ¼Ûé¶ïõ¾ÛÛ×¬Ûà ` 60 ÅÛÛ”Û 12% ÈýÛÛ›÷¶ÛÛ× þùÁéõ Š™öà¶ÛÛ ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛÉÛé …¶Ûé þùÁõ ÈÛÌÛÙ¶ÛÛ× …×©Ûé ¸ÛÛ×̃ Û 

ÍÛÁõ”ÛÛ Ðü¸©ÛÛ…Ûé¾ÛÛ× ¸ÛÁõ©Û ïõÁõÈÛÛ¶ÛÛ ™öé. 
 ÜÈÛïõÅ¸Û – II   

 (1) ¾ÛÉÛà¶ÛÁõà ½ÛÛ¦éø ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛÉÛé …¶Ûé …Û¸ÛéÅÛ ÉÛÁõ©ÛÛé ¸Ûó¾ÛÛ¨Ûé ˜ÛæïõÈÛÛÉÛé. (¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ ïõÛé¥øÛé ›ä÷…Ûé) 
 (2) ¸ÛóÛéÍÛéÍÛá•Û ˜ÛÛ›÷Ù ` 2 ÅÛÛ”Û ïõÁõÛÁõ ÈÛ”Û©Ûé ˜ÛæïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛÉÛé. 

ïõÛé¥øÛé 

                      ÈÛÌÛÛë 
ÜÈÛ•Û©Û 

t0 t1 t2 t3 t4 t5 

½ÛÛ¦ä×ø (` ÅÛÛ”Û¾ÛÛ×) 10 15 25 25 25 25 

1 ` ¶Ûä× 12% ¶ÛÛ þùÁéõ ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 1 .893 .797 .712 .636 .567 

  ¾ÛÛÜÐü©Ûà : - ïõÛȩ́ ÛÛëÁéõ¤ø ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 30% ™öé. 
  ï×õ¸Û¶Ûà…é ïõýÛÛé ÜÈÛïõÅ¸Û …¾ÛÅÛ¾ÛÛ× ¾ÛæïõÈÛÛé ›Ûé̂ …é ? 

…¬ÛÈÛÛ 
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 (a) ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ 2015-16 ¾ÛÛ¤éø ËÛà ÈÛéþùÛ¶©Û¶Ûà …¸ÛéÜ“Û©Û ïäõÅÛ …ÛÈÛïõ ` 11,80,000 ™öé. ©Ûé¾Û¶Ûä× ïõÅÛ¾Û    

80 C ¸Ûó¾ÛÛ¨Ûé¶Ûä× …¸ÛéÜ“Û©Û ÁõÛéïõÛ¨Û ` 1,80,000 ™öé. ©Ûé¾Û¨Ûé þÁéõïõ Ðü¸©Ûé …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ 
ÈÛéÁõÛ¶Ûà ïéõ¤øÅÛà Áõïõ¾Û ½ÛÁõÈÛà ›Ûé̂ …é ›÷é¬Ûà ïõÁõà¶Ûé ïõÅÛ¾Û 234 C Ðéü¥øÇ ©Ûé…Ûé ïõÛé̂ ¸Û¨Û ¸ÛóïõÛÁõ¶ÛÛ× 
ÈýÛÛ›÷ ˜ÛæïõÈÛÈÛÛ ¾ÛÛ¤éø ›÷ÈÛÛ¼ÛþùÛÁõ ¶Û ¼Û¶Ûé ? 7 

 (b) ï×õ¸Û¶Ûà …éÍÛéÍÛà ¾ÛÛ¤éø …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ ÈÛéÁõÛ …×•Ûé¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ÍÛ¾Û›ÛÈÛÛé. 4 

 (c) ÍÛ×̃ ÛÛÅÛïõàõýÛ Ü¶Û¨ÛÙýÛÛé ¾ÛÛ¤éø ÈýÛÛ›÷ …¶Ûé –ÛÍÛÛÁõÛ¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 3 

 

5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø ÍÛÛ˜ÛÛ× ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé : 14 

 (i) ˜ÛÛé””Ûä× ÈÛÛÜÌÛÙïõ ¾ÛæÅýÛ Þô¨Û ÐüÛé̂  ÉÛïéõ šýÛÛÁéõ 

  (a) Š™öà¶Ûà ÅÛàµÛéÅÛ ÅÛÛé¶Û¶Ûä× ÈýÛÛ›÷ ïõÛ˜ÛÛ ÈÛÛÜÌÛÙïõ ¾ÛæÅýÛ ïõÁõ©ÛÛ× ÈÛµÛä ÐüÛéýÛ. 

  (b) ¸Ûó¾ÛÛÜ¨Û©Û ïõ¸ÛÛ©Û ïõÛ˜ÛÛ ÈÛÛÜÌÛÙïõ ¾ÛæÅýÛ ïõÁõ©ÛÛ× ÈÛµÛä ÐüÛéýÛ. 

  (c) ˜ÛæïõÈÛéÅÛÛ ¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ ÈÛéÁõÛ ïõÛ˜ÛÛ ÈÛÛÜÌÛÙïõ ¾ÛæÅýÛ ïõÁõ©ÛÛ× ÈÛµÛä ÐüÛéýÛ. 

  (d) ïõÅÛ¾Û 24(a) …¶Ûé 24(b) ¸Ûó¾ÛÛ¨Ûé¶Ûà ïõ¸ÛÛ©Û ïõÛ˜ÛÛ ÈÛÛÜÌÛÙïõ ¾ÛæÅýÛ ïõÁõ©ÛÛ× ÈÛµÛä ÐüÛéýÛ. 

 

 (ii) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ¼ÛÛ¼Û©Û ¾ÛÛ¤éø ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û¶ÛÛ× ÉÛàÌÛÙïõ Ðéü¥øÇ …ÛÈÛïõ ïõÁõ¸ÛÛªÛ ¶Û¬Ûà ? 

  (a) ºõÛ¾ÛÙ ÐüÛŠÍÛ 

  (b) ˜ÛéÜÁõ¤éø¼ÛÅÛ ¤ÖøÍ¤ø ¾ÛÛ¤éø µÛÛÁõ¨Û ïõÁéõÅÛ Ü¾ÛÅÛïõ©Û 

  (c) ¸ÛÛé©ÛÛ¶ÛÛ ÁõÐéü¥øÛ¨Û¶Ûä× ¾ÛïõÛ¶Û 

  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ× 

 

 (iii) ïõˆ ¼ÛÛ¼Û©Û ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û¶ÛÛé …¸ÛÈÛÛþù ¶Û¬Ûà ? 

  (a) µÛ×µÛÛ¶ÛÛé Í¤øÛéïõ  (b) …×•Û©Û Š¸ÛýÛÛé•Û¶Ûà ÈÛÍ©Ûä…Ûé 

  (c) ½ÛÛÁõ©Û¾ÛÛ× ”Ûé©Ûà¶Ûà ›÷¾Ûà¶Û (d) šÈÛéÅÛÁõà 

 

 (iv) ¾Ûæ¦øà ¶ÛºõÛ ÈÛéÁõÛ¶ÛÛ …ÛµÛÛÁõÛé 

  (a) …éÍÛéÍÛà…é ¸ÛÛé©Ûé µÛÛÁõ¨Û ïõÁéõÅÛ ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û 

  (b) ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ¾ÛÛ× ºéõÁõ¼ÛþùÅÛ ïõÁéõÅÛ ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û 

  (c) Š¸Û›÷ ¾ÛæÅýÛ¶ÛÛé ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û¶ÛÛé ÈÛµÛÛÁõÛé 

  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 

 

 (v) …éïõ …éÍÛéÍÛà¶ÛÛ× ¼Ûé ¼ÛÛÇïõÛé ™öé …¶Ûé ÐüÛéÍ¤éøÅÛ¾ÛÛ× ÁõÐüà¶Ûé …½ýÛÛÍÛ ïõÁéõ ™öé, ›Ûé ”ÛÁéõ”ÛÁõ ˜ÛæïõÈÛéÅÛ ”Û˜ÛÙ 
` 14,400 ÐüÛéýÛ ©ÛÛé ”Û˜ÛÙ …×•Ûé¶Ûà ïéõ¤øÅÛà ïõ¸ÛÛ©Û ¼ÛÛþù ¾ÛÇÉÛé. 

  (a) ` 7,200  (b) ` 14,400 

  (c) ` 9,600  (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüá 
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 (vi) …•ÛÛŠ ÅÛ×¦ø¶Û¾ÛÛ× ïõ¾ÛÛýÛéÅÛ ¶ÛºõÛé ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û ½ÛÛÁõ©Û¾ÛÛ× ÅÛÛÈýÛÛ ` 3,00,000 ïõÁõ¸ÛÛªÛ ™öé. 

  (a) ÍÛÛ¾ÛÛ¶ýÛ ÁõÐüàÉÛ ¾ÛÛ¤éø 

  (b) ÁõÐüàÉÛ ¸Û¨Û ÍÛÛ¾ÛÛ¶ýÛ ÁõÐüàÉÛ ¶ÛÐüà ¾ÛÛ¤éø 

  (c) Ü¼Û¶Û ÁõÐüàÉÛ ¾ÛÛ¤éø 

  (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüá 

  (e) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 
 

 (vii) Ü¾ÛÅÛïõ©Û¶Ûà ¸Ûä¶Û:Í¬ÛÛ¸Û¶ÛÛ …é 
  (a) ¾Ûæ¦øà ”Û˜ÛÙ ™öé …¶Ûé ©Ûé¶ÛÛ ¸ÛÁõ –ÛÍÛÛÁõÛé •Û¨Ûà ÉÛïõÛýÛ ™öé. 

  (b) ¾Ûæ¦øà ”Û˜ÛÙ ™öé …¶Ûé ïõˆ¸Û¨Û ¼ÛÛþù ¾ÛÇ©Ûä× ¶Û¬Ûà. 

  (c) ¾ÛÐéüÍÛæÅÛà ”Û˜ÛÙ ™öé …¶Ûé ïõõˆ¸Û¨Û ¼ÛÛþù ¾ÛÇ©Ûä× ¶Û¬Ûà. 

  (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüá 

 

 (viii) ÍÛ×ýÛÛé›÷¶Û¶Ûà ýÛÛé›÷¶ÛÛ Ðéü¥øÇ ¾Ûæ¦øà ¶ÛºõÛ ÈÛéÁõÛé ________ ¶Ûé ÅÛÛ•Ûä ¸Û¦ø©ÛÛé ¶Û¬Ûà. 

  (a) ÍÛ×ýÛÛé›÷¶Û ïõÁõ©Ûà ½ÛÛÁõ©ÛàýÛ ï×õ¸Û¶Ûà 

  (b) ÍÛ×ýÛÛé›÷¶Û ¬Û©Ûà ½ÛÛÁõ©ÛàýÛ ï×õ¸Û¶Ûà 

  (c) ÍÛ×ýÛÛé›÷¶Û ïõÁõ©Ûà ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà (…¸ÛÈÛÛþù ÜÍÛÈÛÛýÛ) 

  (d) ÍÛ×ýÛÛé›÷¶Û ¬Û©Ûà ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà 

 

 (ix) …éïõ ï×õ¸Û¶Ûà…é ÈÛéÁõÛ ¸Û™öà¶ÛÛé ¶ÛºõÛé ` 11,16,223 ïõ¾ÛÛýÛéÅÛ ™öé. Ü¦øÜÈÛ¦ø¶¦ø ¸ÛÁõ¶ÛÛé ÈÛéÁõÛé 16.223% 

ïõÁõ¾Ûäî©Û Ü¦ÜÈÛ¦ø¶¦ø ïéõ¤øÅÛä× ÐüÉÛé ? 

  (a) ` 9,60,415  (b) ` 8,60,415 

  (c) ` 9,50,415  (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüá 

 

 (x) ËÛà X ¶Ûà ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ 2015-16¶Ûà …×þùÛœ÷©Û …ÛÈÛïõ ` 12,00,000 ÐüÉÛé. ©Ûé¾Û¶Ûà ïõÅÛ¾Û 80 C 

¸Ûó¾ÛÛ¨Ûé¶Ûà ¼Û˜Û©ÛÛé ` 2,00,000 ÐüÉÛé. ©Ûé¾Û¶Ûà ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ¶Ûà …ÛÈÛïõ ÈÛéÁõÛ¶Ûà ïéõ¤øÅÛà ›÷ÈÛÛ¼ÛþùÛÁõà 

ÐüÉÛé ? 

  (a) ` 1,44,200  (b) ` 1,28,750 

  (c) ` 1,40,000  (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüá 
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 (xi) Ü¼Û¶Û ï×õ¸Û¶Ûà …éÍÛéÍÛà …¶Ûé ï×õ¸Û¶Ûà …éÍÛéÍÛà ¾ÛÛ¤éø, …•ÛÛŠ¬Ûà ½ÛÁõÈÛÛ¶ÛÛ× ÈÛéÁõÛ¶ÛÛ Ðü¸©ÛÛ…Ûé¶Ûà ÍÛ×”ýÛÛ 

…¶Ûä’õ¾Ûé 

  (a) 3 …¶Ûé 4  (b) 4 …¶Ûé 3 

  (c) 4 …¶Ûé 4  (d) 3 …¶Ûé 3 

 

 (xii) …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ ÈÛéÁõÛé ©ýÛÛÁéõ ›÷ ½ÛÁõÈÛÛ¸ÛÛªÛ ™öé šýÛÛÁéõ ©Ûé (…ÛÈÛïõ ÈÛéÁõÛ µÛÛÁõÛ ¸Ûó¾ÛÛ¨Ûé)  

  (a) ` 10,000 ÐüÛéýÛ  (b) ` 10,000 ïéõ ©Ûé¬Ûà ÈÛµÛä 

  (c) ` 15,000 ÐüÛéýÛ  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 

 

 (xiii) ïõÅÛ¾Û 80 C ¸Ûó¾ÛÛ¨Ûé¶Ûà ïõ¸ÛÛ©Û _______ ¶Ûà ïäõÅÛ •ÛóÛéÍÛ …ÛÈÛïõ¾ÛÛ×¬Ûà ¼ÛÛþù ¾ÛÇé ™öé. 

  (a) ÈýÛÜî©Û 

  (b) ÈýÛÜî©Û …¶Ûé HUF 

  (c) ÈýÛÜî©Û, HUF …¶Ûé ï×õ¸Û¶Ûà 

  (d) ©Û¾ÛÛ¾Û ¸ÛóïõÛÁõ¶ÛÛ …éÍÛéÍÛà 

 

 (xiv) ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ 2015-16¾ÛÛ× …ÛÁõ ³ùÛÁõÛ ¸ÛÛé©ÛÛ¶ÛÛ ïäõ¤ä×ø¼Û ¾ÛÛ¤éø ¾Ûé¦øàîÅÛé̂ ¾Û¶ÛÛ ÈÛà¾ÛÛ¶ÛÛ× ` 20,000 

…¶Ûé ` 26,000 ¸ÛÛé©ÛÛ¶ÛÛ ¾ÛÛ©ÛÛ-Ü¸Û©ÛÛ ¾ÛÛ¤éø ˜ÛæïõÈýÛÛ ™öé. ©Ûé¾Û¶Ûé ïõ¸ÛÛ©Û ©ÛÁõàïéõ ¾ÛÇÈÛÛ¸ÛÛªÛ Áõïõ¾Û  

  (a) ` 50,000  (b) ` 46,000 

  (c) ` 45,000  (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüá 

___________  
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1. (a) Which steps are advisable to considered, for tax planning ? Explain. 7  

      OR 

  On the basis of which factors, taxability of total income of an assessee is 

determined ? Discuss. 

 

 (b) Attempt any two from the following : 4 

  (i) Describe any four objectives of taxes. 

  (ii) Explain tax evasion. 

  (iii) What is previous year ? 

 

 (c) Answer the following : 3 

  (i) What are the types of residential status of Company ? 

  (ii) What is very senior citizen ? 

  (iii) How many slabs of tax applicable to an individual assessee ? 

 

2. Shriman Ankit regularly visits England. He is Indian citizen. Information pertaining to 

his stay in India is as follows : 14 

                        Stay in India 

Previous Years Months of Stay 

2011 – 12 April, May, June 

2012 – 13 April, May, June 

2013 – 14 April, May, June 

2014 – 15 April, May, June 

2015 – 16 April, May, June 

  During 2015-16 voluntarily he has decided to go abroad on 2-7-15. But his              

tax consultant has advised him to go abroad on 30-6-2015. He had left for abroad on            

30-6-2015. 

  From your view point, whether advise of tax consultant was appropriate ? Why ? 

On this basis of his incomes which are given below evaluate advise of tax consultant. 

What kind of difference would arise in your answer if he had gone to abroad every year 

on 2/7 ?  

 Incomes : 

 (1) Income of Foreign bond, 50% amount received in India ` 2,50,000. 

 (2) Agriculture income of Burma ` 1,70,000. 
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 (3) Income from property of England, received in India ` 4,30,000. 

 (4) Income of Business of Japan, controlled from India ` 2,80,000. 

 (5) Income of Business of Russia, controlled from India ` 1,20,000. 

 (6) Profit on sale of house property situated in India, income received in Japan             

` 3,00,000. 

  How and how much tax liability of Shriman Ankit would have reduced as per the 

advice of tax consultant ? Explain. 

  Tax Slabs : 10.3%   20.6%   30.9% 

  Previous Year 2015 – 16;    Assessment year 2016 – 17. 

     OR 

 (a) Discuss deemed ownership in the context of income from house property. 7 

OR 

  Shri Himanshu is owner of two house. Information related to it is as follows : 

Particulars 
House – A House – B 

`̀̀̀ `̀̀̀ 

Municiple Valuation 4,00,000 2,80,000 

Fair Rent 5,20,000 3,40,000 

Standard Rent 4,24,000 4,00,000 

Total Local taxes (20% outstanding) 40,000 30,000 

Fire Insurance 4,000 4,000 

Land revenue 6,000 6,000 

Interest on Loan for construction 60,000 25,000 
 

  His other estimated taxable income is ` 11,50,000. His expected investment under 

section 80 C is ` 1,20,000. These incomes are for previous year 2015-16. What 

kind of planning he should undertake, so that his tax liability can be minimized. 

 

 (b) Attempt any two from the following : 4 

  (1) Explain provisions pertaining to education allowance. 

  (2) State types of capital assets. 

  (3) What is deposit scheme ? 

 

 (c) Answer the following : 3 

  (1) What is the maximum limit of Section 80 C for previous year 2015-16 ? 

  (2) Section 24(a) stands for what ? 

  (3) Section 54 stands for what ? 

 

3. (a) For the purpose of long term investment Finance Manager has developed three 

options as follows for procurement of funds. You have to determine, that which 

option is advisable from the view point of equity shareholders. Information is as 

follows :    7 

  (1) Total investment ` 1 crore. 

  (2) Expected rate of return 25%. 

  (3) Interest rate 12%. 
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  (4) Dividend payment 100%. 

  (5) Tax rate for company 30.9%. 

  (6) Dividend distribution tax 28.325%. 

  (7) Three options : 

   (a) 100% through equity fund. 

   (b) 70% through equity fund and 30% through debenture. 

   (c) 30% through equity fund and 70% through debenture. 

OR 

  Explain classification of Companies as per Income Tax Act, 1961. 

 

 (b) Explain bonus share and tax planning from the view point of shareholders. 4 

     OR 

  What kind of taxes affect the decision of capital structure ? How ? 

 

 (c) Explain objectives of merger. 3 

    OR 

  What is demerger ? 

 

4. X company limited has explored two options for long term investment in the context of 

buy or lease.   14 

 Option – I 

 (1) To purchase machinery for ` 110 lakhs. 

 (2) Scrap value after useful life of 5 years ` 10 lakhs.  

 (3) Straight line method of depreciation will be used. 

 (4) ` 60 lakhs will be borrowed from bank at interest of 12% and repayable in five 

equal instalments at the end of each year. 

 Option – II   

 (1) Machinery to be acquired on rent and will be paid as per given terms. (See 

following table) 

 (2) Processing charge will be ` 2 lakhs and will be paid at the time of agreement. 

Table 

                               Years 

Particular 

t0 t1 t2 t3 t4 t5 

Rent (`̀̀̀ lakhs) 10 15 25 25 25 25 

Present value @ 12% of 1 Re. 1 .893 .797 .712 .636 .567 

  Information : Corporate tax rate is 30%. 

  Which option should be executed by the company ? 

OR 

 (a) The estimated total income of Shri Vedant for previous year 2015-16 will be          

` 11,80,000. His expected investment under section 80 C is ` 1,80,000. What 

amount of advance tax he should pay for each instalment, so that he will not be 

liable to pay any kind of interest under section 234 C ? 7 

 (b) Explain provisions of advance tax for company assessee. 4 

 (c) Explain significance of interest and depreciation for managerial decisions. 3 



NC-111 10  

5. Select correct option for each of the following questions : 14 

 (i) There can be negative net annual value when. 

  (a) Interest on borrowed capital is more than gross annual value. 

  (b) Standard deduction is more than gross annual value. 

  (c) Municiple taxes paid are more than gross annual value. 

  (d) Deduction under section 24(a) and 24(b) is more than gross annual value. 

 

 (ii) For which of the following, income from house property is not chargeable to tax ? 

  (a) Farm house 

  (b) Property held for Charitable purpose 

  (c) Self occupied house 

  (d) All of the above 

 

 (iii) What is not exception of Capital asset ? 

  (a) Any stock in trade (b) Personal effect 

  (c) Agricultural land in India (d) Jewellery 

 

 (iv) Basis of capital gain tax are 

  (a) Capital asset owned by the assessee. 

  (b) Transfer of capital asset in previous year. 

  (c) Excess of consideration over acquisition cost. 

  (d) All of the above 

 

 (v) An assessee has two children and staying in hostel for education, what will be 

exempted expenditure if he has actually paid ` 14,400  

  (a) ` 7,200  (b) ` 14,400 

  (c) ` 9,600  (d) None of the above 

 

 (vi) Profit earned in earlier years of London and remitted to India during previous year 

` 3,00,000 is taxable to 

  (a) Resident 

  (b) Resident but not ordinary resident 

  (c) Non resident 

  (d) None of the above 

  (e) All of the above 

 

 (vii) Replacement of an asset is 

  (a) Capital expenditure and depreciation on it can be claimed. 

  (b) Capital expenditure and nothing can be claimed. 

  (c) Revenue expenditure and nothing can be claimed. 

  (d) None of the above 

 

 (viii) In the scheme of amalgamation capital gain tax is not applicable to 

  (a) Indian amalgamated company 

  (b) Indian amalgamating company 

  (c) Foreign amalgamated company (Except exception) 

  (d) Foreign amalgamating company 



NC-111 11 P.T.O.  

 (ix) A company has earned profit after tax ` 11,16,223. Assume tax on dividend is 

16.223%. What will be tax free dividend ? 

  (a) ` 9,60,415  (b) ` 8,60,415 

  (c) ` 9,50,415  (d) None of the above 

 

 (x) A total expected income of Mr. X for previous year 2015-16 will be ` 12,00,000. 

His savings under section 80 C will be of ` 2,00,000. What will be his tax liability 

for P.Y. 2015-16 ? 

  (a) ` 1,44,200  (b) ` 1,28,750 

  (c) ` 1,40,000  (d) None of the above 

 

 (xi) For non-company assessee and company assessee, advance tax payment 

instalments are respectively 

  (a) 3 and 4  (b) 4 and 3 

  (c) 4 and 4  (d) 3 and 3 

 

 (xii) Advance tax is payable, provided it is (as per IT Act) 

  (a) ` 10,000  (b) ` 10,000 or more 

  (c) ` 15,000  (d) All of the above 

 

 (xiii) Deduction u/s 80 C is allowed from total gross income computed of _______. 

  (a) an individual 

  (b) an individual and HUF 

  (c) an individual, HUF and company 

  (d) All types of assesses 

 

 (xiv) For previous year 2015-16 R paid ` 20,000 for mediclaim insurance for his family 

and paid ` 26,000 for his parents. He will be entitled for deduction of 

  (a) ` 50,000  (b) ` 46,000 

  (c) ` 45,000  (d) None of the above 

 

_______ 

  



NC-111 12  

 


